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1 ARG HRET
1 AE T
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(BEREELT (—%) ]
AR U BT 5 444.0 m | 406.0+38.0=444.0
IR E EIRHITEA 5 144.0] m2 | 133.0+11.4=144.4

FRIEMET ]

AsHE 4t L=7. 3km %) 7.0] m3 | 6.65+0.57=7.22
AsBEM LIEEE )3 17.0] t 15. 64+1. 34=16. 98

[+T)
Ny YR EI T A 5 137.0[ m3 | 128.88+7.98=136. 86
AT BIRE 4t L=6. 7km %) 164.0[ m3 [ 154.66+9.58=164.24
KIung )3 164.0 m3 | R.E
ERIERE 5 103.0] m3 | 93.4+5.09=102. 98
BAL f * 103.0 m3 | R.E

[(#£T (RERA) ]
TRERET ARC-40 t=150 I 144.0[ m2 | 133.0+11.4=144.4
LERET M-40 t=120 I 144.0 m2 | R.E
R QfaIEAs  t=30 I 144.0 m2 | R.E

(BEHEELT (%) ]
SRR U B 5 409.0] m | 400.0+9.2=409. 2
IR E E IR HITEA 5 436.0[ m2 | 430.0+5.52=435. 52

(3BT
AsHE 4t L=7. 3km %) 19.0f m3 | 18.9+0.22=19.12
AsBEtt 038 53 45.0] t 44.42+0.52=44. 94

[(#£T (REAT) )
TREEEIE %) 436.0] m2 | 430.0+5.52=435.52
=®ET QERE t=50 I 436.0l m2 | AL




#E - T8 - 185 1 E% || %’@ﬂ“’fﬁ = g“"[‘éﬁ
B AEERETE
1 ARG HRET
¥ AKEERST HR - K#EEO0. 5XE L
BEHtT

(BEMREELT (—%) ]
SRR U BT 5 90.0) m | 84.0+6.0=90.0
AR E A #% | 30.0] m2 | 28.0+1.80=2.8

FRIEME T ]

AT E 4t L=7. 3km %) 1.0/ m3 [ 1.4+0.09=1.49
AsBEM LEEE )3 4.0 t 3. 3+0. 21=3. 51

[+T)
Ny YR EI T A 5 27.0[ m3 | 25.76+1.26=27.02
AT BIRE 4t L=6. 7km %) 32.01 m3 | 30.91+1.51=32.42
RIung )3 32.00 m3 | AEE
ERIERE 5 19.0] m3 | 18.46+0.80=19. 26
BAL f *# 19.0l m3 | RE

[(#£T (RERA) ]
TRERET ARC-40 t=150 HHM 30.0] m2 | 28.0+1.8=29.8
LERET M-40 t=120 HHM 30.00 m2 | EE
(RaasE @iEsEAs =30 e | 0.0/ m | B

(BERIELT (%) ]
SRR U BT 5 80.0[ m | 80.0+9.2=89.2
AR E A #% | 92.0] m2 | 86.0+5.52-01.52

(RERT)
AT E 4t L=7. 3km %) 4.0 m3 | 3.78+0.22=4.0
AsBEtt 038 )3 9.0 t 8.88+0.52=9.4

(%I (AEIAT) )
TREEEIE %) 92.0[ m2 | 86.0+5.52=91.52
®ET QERE t=50 HHM 92.0) m2 | FE
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P AKEERBTE
I ARERBT
1 AERBT
ERRT
[(BEME ¢ 1002%4%]
PEE ®100 # 200.0] m | 200.0
EF-S $ 100 # 40.0| f& | 40.0
EF-45L # 100 # 2.0 & | 2.0
EF-C # 100 # 1.0 @ [ 1o
EF-P{+CAP ¢ 100 *# 1.0 & | 1.0
(5% ¢ 1008%4%]
PEEMHT ®100 ;) 200.0] m | 200.0
TIIFLVEMFT 6100 mE20 [ 7] 43.0| AR [ EF-S 408 + EF-45L 2{& + n" -9 CAP 1{@
F IRV ERFT  $100 BhEIA L 7} 1.0 A | EF-C 1.0
(BE#E ¢ 5084%]
PEE ®50 # 40.0] m | 40.0
EF-S #50 # 8.0/ f& | 8.0
EF-P{CAP 50 ## 1.0 /& [ 1.0
JKERER ®50 HHH 1.0 /& | 1.0
(BE#ME ¢ 50R4R]
PEEMHT ®50 ) 40.0[ m | 40.0
FYIFLVERFT  $50 BE20 L 7} 8.0| &R | EF-S 8@
FYIFLVERFT  $50 BhEIA [ 7] 1.0 B | -y CAP 1@
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ES,
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HE - TE - l Cm [H6] TR wE lu|
P AKEERRIE
|h A& EHBT
| b 2EHFRT
EEST
(No. | 42T ¢ 1008842]
IHAET 150x50  CIPXPE | #3#f 1.0| &7
AT 100x50  CIPXPE | #35#f 1.0| AR
PEE 350 #
AT $100 cIp W
i 100 #
kiizill 6100 #
PC-P $50 # 20/ @
PE-GH T $100 # 1.0 &
BEB 6100 # 1.0 @
EF-45L $100 # 2.0/ @
PEEBT 350 % 1.0 m
HUIFVERTFI 6100 ma20 wy 2.0| @Af| EF-45L 2.0
F IV ERFET 100 Ah=h %) | =]
 IIFLE Y 100 bi: %; 1.0,
$100 20 A
$100 cIp % 2.0 A
$50 2.0l 8
[No24E45 T ¢ 1008481
EF-RT $100% ¢ 75 # 1.0 &
EF-RS $75x ¢50 # 1.0 &
EF-C 50 # 1.0 &
EF-L 50 # 2.0 8
#YIFLERFET  ¢100 mE20 %71 1.0| &iFT| EF-RT 1.0
K YVIFLVERFET  ¢75 &2 1.0| &iFT| EF-RS 1.0
FUFVERFT  $50 mE20 =) 2.0| | EF-L 2.0
F ULV ERFT  $50 mEI0 L %) 1.0l B | EF-C 1.0
A IIFVEYEE 650 5 30 |
PEE $50 # 0.5 m
PEEMHETL $50 # 0.5 m
$50 PE(RY4R° )| #3 2.0 EfR
50 # 1.0 &
$50 L %1 1.0l O
100 # 1.0 &
100 # 1.0] @
100 # 1.0] @
100 # 2.0 @
$100 # 1.0l m
B AT $100 PEG4R)| #%# 1.0| AR
AT $100 cIp W 2.0| AR
 YIFLE Y 100 L % 1.0, A
SHEE $100 % 2.0 A
KIFEREL 100 Bason | 2.0| EF
PEEFT $100 % 1.0 m
i # 1.0 &
RIS $100 # 1.0 &
SHIIVEF T $100 cIp %) 2.0
#YIFLERFET  ¢100 bzl Iy 1.0l O
[No3-THE45 T ¢ 5084431
IHAET 100x50  CIPXPE | #35#f 1.0| EF
EF-45L $50 # 20 @
PEE 350 # 0.5/ m
EF-RT $100% ¢75 # 1.0 &
EF-RS $75%50 # 1.0 &
EF-C 350 # 1.0 &
HYIFLERFT  ¢100 mE20 | #% 1.0| BiFT| EF-RT 1.0
HVIFLERFET  ¢75 1.0| &iFT| EF-RS 1.0
HYIFLVERFET  $50 2.0| 77| EF-45L 2.0
FUTFLVEBRFI  $50 1.0 EF-C 1.0
PEEBT 350 0.5/ m
[No3-24E45 T ¢ 5085431
EF-S 350 # 1.0 &
PEE $50 # 0.5 m
K YIFLERFET  $50 mE20 | #% 1.0| &iFf| EF-S 1.0
HIIFVEYIEE  $50 % 3.0 [
o AEMFT 350 PER{R)|  #3 2.0| @FR
PEEBT 350 % 0.5/ m
HYIFVERE  $50 %) 1.0 m
PC-P 350 # 1.0 &
MERFT $50 % | =]
(NoSHEHET ¢ 5084R]
EF-T $50x 50 # 1.0 @
EF-S $50 # 1.0l &
FYIFLVERFT 50 mE20 HH 2.0| 7| EF-T 1.0 + EF-S 1.0
B AT 350 PE(RIMR)|  #43% 3.0| AR
A IIFVEYIE 650 ;%) 3.0 |
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KEXEHRBT
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EmBRT
(E#%]
HPPE® 350 # 40.0] m | 40.0
WEF-S #50 # 8.0 f& | 8.0
PETE ®50 2 1.0 & [ 1.0
HlkFERET $50 L £207) 1.0| #
(H#%E)
HPPEEfMER T ®50 ;) 40.0[ m | 40.0
FYIFLVERFT  $50 BhE20 L 71 8.0| &AT| WEF-S 81
T YIFLVERFT  ¢50 Ahzhn [ 7] 1.0 A | Pg&ig 1
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FAKEEHRETE
KEXEHHT
KEEMHEZT
[No.3#5#5 T ]
B i T ®75x% 50 WEF ¥k 1.0| &Fr
fFéEa 7 50 2l 1.0 @&
FUIFLVEYIM  $50 L %7) 1.0l &
WEF-S ¢ 50 # 1.0[ @&
T UIFLVEBFT @50 AhE20 i ¥7) 1.0| #FT| WEF-S 1.0
HPPEE & 50 £ 0.5 m
HPPE® #i 5% T ¢ 50 - %7) 0.5| m
[No.53E#E T ]
WEF-T ¢ 50 # 1.0[ @&
WEF-S ¢ 50 # 1.0[ @&
17K (R9427) $50 i ¥7) 1.0| &Fr
HWIsRY Ty ¢ 50 # 1.0[ @&
FUTFLVEYIM  $50 - %7) 2.0 A
FUIFLVERFT @50 AhE20 i ¥7) 3.0|EFT| WEF-T 1.0 + WEF-S 1.0 + #1EH
HPPEE & 50 22l 1.0l m
HPPE® #i 5% T ¢ 50 - %7) 1.0 m




e ZE

R - I - 83 R X% wE [5E] BEX T
HRKEEHRETE
HRKEFEHREZT
HRAKEEHGRT (HRELE)
HEEENET
(Bt i T]
EF-ST $50x ¢30 st | 10.0|®AT
[##E]
PEP #30 FH 28.0| m
PEEMERT #30 5 28.0| m
[HEETETL]
EF-S #30 # 10.0| &
EF-RS $30x ¢25 # 1.0[ @
PCMG-TSY $30x ¢25 # 9.0| @
TYIFLVEBFT 630 47 11.0| AR | EF-S 10.0 + EFRS 1.0
TYIFLVEBFT 630 rh=hl £ 9.0|f&AT| PCMG-TSY 9.0
[BART]
FRE Y 2 AH # 5.0| &
B R4 ;| £ 4.0 &
(BRERFAZET]
LA-AP $25 # 9.0| &
B Ffry7’ 25 2l 9.0 @&
EF-C ¢ 30 # 1.0[ @&
HEMFT ®25 % 18.0| O [ LA-AP 9.0 + B#F+ry7° 9.0
TYIFLVEBFT ¢30 %70 1.0| &
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HRKEEHETE
HRKEFEHREZT
HRAKEEGRT (HRELE)
HeEyET
(Bt ik T ]
i T ®50% ¢20 k) 2.0| &P
[##E]
PWP $20 H#t 5.0/ m
(ibk#2E ]
1EKiE (F) 20 I 20| @&
[BART]
RRE Y KER 2l 20| @&
R KER # 1@
(BEERFAZET]
Bt +vy7 20 2l 2.0l @&
Bty @13 2l 0.0 &
FUIFLVERFT 020 rhzhw £ 20| O | Biefy7 2.0
FUIFLVEBMFT 613 =il 7 0.0] O
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b AKEERBRTE
REET
ZEEHET
XBEFEEB % 58.0| AB | G46+6A + WEA
HBERHE
EiRE
BHET
LRI 7] 8.0) m 8.00
SEIRE IR %) 4.0 m2 4.00
ARk 4t L=4. 2km L %) 0.2| m3 0.20
AsBEtf AL IR & B 0.5 t 0.48
N )RR EIE A L %7) 5.0[ m3 4.60
4 LEWRE 4t L=5. Tkm L %) 2.0 m3 1.99
ErasnE B 2.0l m3 G
ERIERE FETL L %) 3.0 m3 3.53
TERET ARC-40 t=150 e wt 4.0 m2 4.00
LERET M-40 t=120 e Ht 4.0 m2 EL
ko kS Q@#EKIEAs =30 e wt 4.0 m2 EL
B RS
SEHBRT B 0.2
KEHEBET B 0.04
KTHNEREAER I 10.0| &F




